| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

o
&)

o
w

o
N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

o
(S

0.1

of-!
E

OO F T e e '?ﬁ"'

085 -50-15-10 -5 0 5

T
»

* HIFYEYTY S Y

Ratio

10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO
08 —— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time__RECO
N . N T N T

o
\‘

o
o
.

efficiency vs d

o
(&)

o
~

.....................................................................

0.3 | f f | —

Ratio

e :
Eie W

130 -2 j 0 20 30
TP dz (cm)




	Contents
	Page 1


